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CHo=CH2
CHsC=CH
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B.3. Mr=12v+2v+2=14v+2
12v/(2v+2)=4/1=>v=2

CaHs



B.4. Mr=12v+2v+16=14v+16
16/2v=2/1 => v=4

C4HsO

B.5. Mra= Mrs

12v +2v + 16=12*3+8

v=2

CH3CHO

OEMAT

r.1.

E€avio

2 TTEVTEVIO

2 e€ivio

2 BouTevikO 0L
MooTravaAn

2 TTevTavovn

AiBLAO pEBLAO QIBEPAG
AIBaVIKOG HEBLAECTEPAG
Mevt — 1,3 =81ev—1 - 0OANn
1 TTPOTTEVIO

T F@T0o0Uo

r.2.

CH3CH2CH(Br)CHs
CH3CH2COCH(CHa)2
CH;=CHCH,COOH
CH3CH2CH(CH3)CH2 CH(CHz3)2
(Cl)CH2C(CHz) (CH2CH3)CH2CHO
HCOOCH2CH3

CH=CCOOH

CH3C=CCHO
CH3CH2OCH2CH2CH3

CH3OCH3
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a. n=m/Mr=1,5 mol
. N=n*Na= 1,5Na popia

O



c. V=n*22,4=33,6 L
OEMA A
A.1.2a A CvHvO  AANSeD6eG N KeTOveEg

B CvHav-; AANKivia n AAkabievia

b C4HsO
o  ANGeDSEC KeToveg
e CH3CH2CH2CHO CH3CH2COCHz3
e BouTtavdAn BouTavovn

e CH3CH(CH3CHO

MeBuAo TTPOTTAVAAN

C4Hg¢
e AAXKivia AAkabiévia
e CH3CH.C=CH CH3CH=C=CH2
1-RouTivio 1.2 BouTabievio
e CH3C=C-CHs CHo=CHCH=CH2
2 BourTivio 1.3 BouTadiévio
C A : ahvoibag +opdloyng celpdg

B : Béong +oudAoyng oelpdg

A.2. a. CvHov- Mr=12v+2v-2=68
14v=70

V=5

CH3CH2CH.C=CH
CH3CH2C=C-CHz3

CH3CH(CHs)C=CH



b. CvHv+,0 Mr=12v+2v+16.2=88=v=4
CH3CH>CH>CH,OH
CH3CH3CH(OH)-CHs

(CH3)2CH CH,-OH
(CH3)3C OH
c. CvHvO2 Mr= 12v+2v+16*2=88=v=4
CH3CH2CH2COOH
(CHs)2CH COOH

d. MrCvHor+2= Mr CzHsO->
12v+2v+2=12*3+6+16>
14v+2=36+6+16>
14v=56->
v=4

CH3zCH2CH2CH3
CH3CH(CHz3)2

A3. HNO3 M
qa. C=n\V->n=CV=1%0.2=0.2 mol

Mr=1+14+16*3=63

N=M\Mr->m=0.2 * 63=12.6gr HNO3

b. 2HNO3 + Ca(OH)2>Ca(NO3)2 +2H0
2 1
0,2 X=0,1Tmol Ca(OH)2

c=n/v=> n=1*0,2=0,2 mol HNO3

c=n/v = v=n/c =0,1/0,1=10L=10.000 ml



